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Example 1

When tossing a coin, there is an equal probability of relling heads or rolling tails. Two coins are tossed
a} Does the sequence of the events matter in this experiment?
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b) Are the events dependent or independent? Explain how you know
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¢) If two coins are tossed, calculate the probabilit that both are heads
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A tree diagram can be helpful graphic organizer. In a tree diagram, the first set of outcomes are
shown as a set of branches. For the second event, the branches “grow” from the ends of the first
outcomes, representing all of the possible outcomes from the second ‘selection’ or ‘trial’. A tree

diagram helps when you want to explore the sample space of a more complex experiment.
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A coin is tossed and a four-sided die is rolled.
a) Create a tree diagram to determine the sample space for this experiment.
b) Create a table to show the sample space for this experiment.
c) Are the events of both trials (the coin toss and the die roll) dependent or independent? Justify
your answer, W\Wevﬂew\ e.mms
d) What is the probability of flipping heads and rolling a 4?
e} Whatisthe probabT::Z of flipping heads or rolling a 4?
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